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QUESTION 1

Which CLI command disconnects all subscribers on an ATM PVC? 

A. clear port 4/3.99 

B. logout port 4/3.99 

C. clear subscriber port 4/3.99 

D. logout subscriber port 4/3.99 

Correct Answer: D 

 

QUESTION 2

Which three BGP attributes are always communicated in a BGP update packet? (Choose three.) 

A. MED 

B. Origin 

C. AS Path 

D. Next Hop 

E. Aggregator 

Correct Answer: BCD 

 

QUESTION 3

Which CLI command shows whether an L2TP Tunnel Switch profile is applied? 

A. l2tp tunnel test 

B. show subscribers 

C. show aaa domain-map 

D. show l2tp destination profile 

Correct Answer: C 

 

QUESTION 4

Which two statements are true about L2TP tunnels? (Choose two.) 

A. Traffic is clear text. 
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B. Traffic is encrypted . 

C. They are initiated by the LNS. 

D. They are initiated by the LAC. 

Correct Answer: AD 

 

QUESTION 5

Two Level 1 routers are exchanging Hello packets with different Area IDs. What occurs between these routers? 

A. An Adjacency is formed. 

B. No IS-IS PDUs are sent 

C. An Adjacency does not form. 

D. An Adjacency forms but traffic is not forwarded. 

Correct Answer: C 
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